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Political Science

Paper II

USEIGRCEIE]
wyatent I1

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Med. |d W e

O @ A TR TR PR (100) TETEET URA foeel ofed. T ween g (2)

Who wrote the book ‘The Home and
The World” ?

(A) Jawaharlal Nehru
(B) Rabindranath Tagore
(C) M. K. Gandhi

(D) Ram Manohar Lohia

Who among the following was the
founder of the ‘Arya Mahila Samaj’
and ‘Sharda Sadan’ ?

(A) Swami Vivekananda

(B) Pandita Ramabai

(C) Swami Dayanand Saraswati
(D) Sri Aurobindo

Who is the author of the book ‘Guilty
Men of India’s Partition’ ?

(A) Dr. B. R. Ambedkar
(B) V.D. Savarkar

(C) Jaiprakash Narayan
(D) Ram Manohar Lohiya

‘g B\ AT T Tee!’ ' UYU SN
foafeatt ?

(A) SR 8E

(B) TS 2R

(C) wH.. e

(D) TH HABL e
TetterdeRt 1o ‘A Afgen wEs’ o
‘YIRET WeA' A WEeTE WA T 7

(A) @t faasEg

(B) dfean Twmem

(C) @t TaME TRl

(D) it swferg

IR el TR A T o
HO R ?

(A) =l . sTaeH

(B) fa.gr. w&aes

(C) STHYhILT ATH

(D) TH HARL e
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Match the following lists of thinkers
and their political concept. Choose
your answer using the codes given

below :
List I

(@ M.K. Gandhi

(b) Jawaharlal Nehru

(0 M. N. Roy

(d) Din Dayal Upadhyaya
List II

(1) Panchsheel

(2) Integral Humanism

(3) Trusteeship

(4) Radical Humanism

Codes :

@ ® © @

A B3 @O @ @

B B3 1 @ @

© @ @O @ 3

D) 1) &) @ @)
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[EEEINE

I |
(@) TH.H. T

(b) SR EE

(¢c) THWA. I

(d) SHEaE SuIEAE
Trar 11

(1) =it
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(3) favesd Heroa

(4) HWIRl HHeEE
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Aa 3 1 @ @
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Who among the following thinkers

established the organisation

‘Abhinav Bharat’ ?
(A) Swami Vivekananda
(B) V.D. Savarkar
(C) Shri Aurobindo
(D) Rabindranath Tagore

Which one of the following options
was not a part of Bal Gangadhar

Tilak ‘Four Point Programme’ ?
(A) Swadeshi

(B) Ganesh festival

(C) Boycott

(D) National Education

Which of the following thinkers was
associated with ‘Self Respect

Movement’ ?

(A) Jayaprakash Narayan
(B) E.V. Ramasamy

(C) V.D. Savarkar

(D) Shri Aurobindo

APR - 15224/11—B

Ee e v faanear * sifaa
IR’ & e T el ?

(A) @ faderg

(B) fa=r. Hee

(C) it srfae

(D) TEEAT MR

w1e3 TR oo a0 ‘=g A’ hrisam
Wreletierl HM THEe gl 2
(A) Tl

(B) TIeiieEel

(C) wfewhr

(D) e e

EATeTdeR! STl foamed ¢ SAree-g=ar

Tc5dcsl T HelHd e ?
(A) SEISRT AT
(B) E.=&l. THEHl

(C) fagr. Hreet

(D) it swfag
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Which of the following political

thought was proposed by the thinker

Kautilya ?

(A) Saptang Theory

(B) Four Pillar State

(C) Panchsheel Doctrine

(D) Seven Fold Revolution

Which of the following pairs is

incorrectly matched ?

(A) Jaiprakash Narayan - Why

Socialism

(B) Ram Manohar Lohia - Marx,

Gandhi and Socialism

(C) Shri Aurobindo - The Mother

(D) V.D. Savarkar - Essays on

Geeta

APR - 15224/11—B

EeleTen! shifeed 1 faamear qieere
T g fo=m i 318 ?

(A) == T

(B) =r@rmen T4

(C) U=Eiie €ru

(D) I<IehIdt

n ¥ n

EeleTyeh! vl SISl 3@ Jeaad

Aqe ?

(A) SHEYFRR A - =™ 9Rifas

(B) T THRT ifedn - A, M ofS

BINIGER

(C) Y 3Rfag - § U

(D) 8.8 9ERE - TS A T




10. Match the following lists of thinkers

and their respective political parties :
List I

(@) Dr. B.R. Ambedkar

(b) Jawaharlal Nehru

(¢c) E.V. Ramasamy

(d) M.N. Roy
List II

(1) Indian National Congress

(2) Independent Labour Party

(3) Communist Party of India

(4) dJustice Party

Codes :

(@ @) © (@

Aa @ o @ 3

B @ @O ©@ 3

< 2 @O & @

D @ @O 6 @
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(@) Sl SN 3TasHt

(b) AR e
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(1) 9 T H
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11.

12.

Identify the incorrect statement :

(A) Politics and economics are tied

to each other

(B) The type of economy adopted
by any state is essential in

comparative political analysis

(C) After globalization economies
of states have witnessed sea

change

(D) World system theory is not

related to world’s capitalist

system

Which country had maximum

number of colonies in Latin

America ?
(A) Spain
(B) Portugal
(C) France

(D) Britain

11.

12.

APR - 15224/11—B
T faum stesern

(A) TSR AT TR § THHHTI
SIEGRRGIES|

(B) qaTcHe USRI fageisomyed

VTS TSI BV TR

FefcgaEd=r Tads Al e

fIgeToor IO ETIS ST

(C) SR ER LU o= STeaee-

g Aid Sed el 3R

(D) wifaes sgaeen fagia Sm=am

{3 ~

cifeqd eTRThd hivrceT <3Id Haitesh

oHEdl BieAl ?
(A) &

(B) drge
(C) mrH

(D) fsrA




13.

14.

15.

What was the biggest challenge
before African Nationalism ?

(A) Linguistic

(B) Economic

(C) Tribal

(D) Religious

Which of the following is not the

feature of globalization ?

(A) Restricted Trade

(B) Liberalization

(©)

Free flow of knowledge and

technology

(D) Free flow of investment across

border

Through 1973 Constitution of
Pakistan which form of Government

was introduced ?

(A) Presidential

(B) Parliamentary
(C) Semi-Presidential

(D) Autocratic

13.

14.

15.

APR - 15224/I1—B
S TZARTYS Felld HIS ST H 10T
Bd ?
(A) ifores
(B) Ttk
(C) swfgamT=
(D) enfier

AU ShIUT ST deh SR Lo Jf¥Tees

e ?
(A) Yfqefed =amr
(B) SERIeRTU

(C) T oo TosET T WaTg

(D) HHdeihe TaaUEhi=l b Joe

1973 =41 UIfer &= TSTEe-gR ShIueH]

TR TR SR Al ?
(A) s

(B) wHaH

(C) T sremef

(D) =T
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16.

17.

18.

Who is considered the father of
American Constitution ?

(A) James Madison

(B) Abraham Lincoln

(C) George Washington

(D) Thomas Jefferson

Who declared Emergency in
Bangladesh on 25th January 1975 ?
(A) Yahya Khan

(B) Sheikh Mujibur Rehman

(C) Zahurul Haq

(D) Mufti Ahmed

Why did the theory of modernization

emerged ?

(A) To guide the developing

countries about their

development

(B) Providing loan to developing

countries

(C) Giving economic support to the

developing countries

(D) To give lessons of politics to the

developing countries

16.

17.

18.

APR - 15224/11—B

SR TSTEEA S iUl T
I

(A) S HSEA

(B) eroimed feie-

(C) Sifsl =iiferTe

(D) IHE SHEA

25 SET 1975 Usit SIFTereRT SAofisoft
IO EoR el ?

(A) Fmen =

(B) 3@ WeeR &AM

(C) HB% Bh
(D) Tt TEHS

YRR fagTd =1 Iamen 3Tl ?

(A) TomgTeie S9TT foemrETeEg Areei
0|

(B) foreremeitel SeAT sl qLad)

(C) forererTeiiel <RI STifeeh wed Lo

(D) TasEeiel S USRI O

<0
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19. Who believed that democracies have | 19. TIhMEEES YSH 9vi< I=d 3T9d
dominance of elite class ? Y IV W ?
(A) S.M. Lipset (A) o . ferade
(B) Vilfred Pareto (B) faethe W&
(C) C.B. Macpherson (C) wI. . HamEd
(D) Samuel Huntington (D) H=geTa gfdred
20. Democratic centralism is the feature | 20. TG HEIHIOT T IV TSHT T
of which Political Party ? Ifyrem MR ?
(A) Democratic Party (A) SHHleH 9
(B) Chinese Communist Party (B) ferl Wﬁr{‘_{ ad&
(C) Conservative Party (C) wg=fcx T4
(D) Indian National Congress (D) e T IO
21. In which theory has Michael | 21. WEhel Whlce A T STfOT for=m=n
Foucault proposed to draw attention TEdmeie Geuee o8] JYTIES] Shiom
to the relationship between power fasr Hieen ?
and thought patterns ?
(A) Feminism (&)
(B) Post-Modernism (B) FTR-HAGH
(C) Structural Theory (C) ToAEmT o
(D) Realist Theory (D) =T&eETel g
11 [P.T.O.



22. Social movements grew after 1990.

They are not caused by which of the

following factors ?

(A)

(B)

(&)

(D)

Globalization has created new
opportunities and development

in various fields

Increased economic and social
inequality. So there was a need

to oppose all of them

Anti-globalization, anti-

capitalist or global justice

movements began to be
included
After 1990, less participation of

people in decision-making
process, emphasis on centra-

lization trend

APR - 15224/11—B

22. 1990 -} A SIeh Tesdad A o HTe.

T TIeTedeh] ShIvAl H2eh HRUTT

T ?

(A)

(B)

©)

(D)

ST R UTes el Helt Suersy
e st fafay e=ma fae™

el

afeier eafor ArfSer ST EHEar I

e el @WHes A At fady

FIOAE] ARl Ho el

Sfaeh el faielt, aieaaeme

faieqt feran SIMIfaer —<==@TETE! SO

ol THOET Bl ANl

1990 <R fvig uferaa Sren=n I

n

e, HEhivl Yaxier o feen
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23.

24.

25.

When did the United Nations

announce the Women’s Decade ?
(A) 1976-1985
(B) 1975-1985
(C) 1995-2005
(D) 1985-1995

Which conferences of NAM was held

in Venezuala in 2015 ?
(A) 17th
(B) 15th
(C) 16th
(D) 9th

Blue economy is related in which

sector ?

(A) Land
(B) Minerals
(C) Marine

(D) Oil

23.

24.

25.

APR - 15224/11—B

HYH TS G Hig ¥ HEll SR
el ?

(A) 1976-1985
(B) 1975-1985
(C) 1995-2005
(D) 1985-1995

AU I 2015 1 AT Feheelt ufteg
el Bl ?

(A) 174
(B) 154t
(C) 164t

(D) 9si

=] THRIATHT 7§ & el Helfe@ e ?
(A) gHm™

(B) @it

(C) &8s

D) &

13
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26.

27.

Which US President announced the
Star War program ?

(A) Carter
(B) Clinton
(C) Nixon

(D) Reagan

Statement (A) : The main issue
in international politics is the
inability of the world political
system to solve the problems arising

from globalization.

Reason (R) : The Westphalian
system has failed to satisfy long-term

holdings.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are correct, but

(R) is not the correct explanation

of (A)
©)

(A) is correct, but (R) is wrong

(D)

(A) is wrong, but (R) is correct

26.

27.

APR - 15224/11—B

TR IR FHRIEHT S IO TS
TG DIV Aed 7

(A) =X

(B) fereted

(C) frar

(D) ¥

e (A) : AR TSR 3
e RS SR IR0 Segaeiedl
HAI TR o Shard Sfdeh TsTehi
R FHAL.

FHROT (R) : RGO SEwHTe
3fER gUl FITEE SRSl SRE SR

0 -
+
-

(A) (A) =707 (R) el T 3TTed 3
(R) ® (A) = I7g TUIHU 3T

(B) (A) =7for (R) S sRIe 271ed, Uq
(R) ® (A) = Iy TIRI0 TRl

(C) (A) s®R T, 99 (R) & Thi=n
I

(D) (A) 9 7%, 997 (R) & SR 3T

14



28.

29.

Arrange the conferences in their
chronological order under North-

South Dialogue.
(1) Cancun Conference
(2) Brant Commission
(3) Paris Conference
(4) Uruguay Talks
Codes :

A) (1), 2), (3), (4)
(B) (3), (2), (1), (4)
(©) (), (3), 2), (1)
D) (3), (2), @), (1)

“A change is taking place; Asia is
again recognizing its identity.”

Whose statement is this ?
(A) Pt. Jawaharlal Nehru
(B) Smt. Indira Gandhi
(C) Shri. Rajiv Gandhi

(D) Shri Chandrashekhar

28.

29.

APR - 15224/I1—B
T-RT01 A=A THHET TR A
W :

(1) FTHT TiEg
(2) s URug

(3) dfwm uftwg

(4) %9 =l
m :

A) (1), (2), (3), (4)
(B) 3), (2), (1), (4)
©) @), 3), (2), (1)

D) 3), (2), (4), (1)

I G s s | o e s et s e
I a9’ ¥ Taum s e ?

(A) T. ORI 8w
(B) o sfew e
(C) = Tsia wied

(D) it =EIER

15
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30.

31.

‘Promotion of international peace
and security’ has been enshrined in

whose Constitution ?

(A) People’s Republic of China

(B) France

(C) India

(D) America

These are the major features of
Indian foreign policy :

() Mutual cooperation

(i1) Peaceful cooperation

(ziz) Expansionism

(v) Respect for mutual sovereignty
(A) @), Gi), (i)

(B) @), (i), (v)

(©) @), Go), GiD), (Gv)

D) @), @), (o)

30.

31.

APR - 15224/11—B

‘ST STiar i gReEn y=n’ ¥

IV TTEHEAT TG el S ?

(A) dueq Rufse offw ==
(B) ®rH

(C) wd

(D) TR

T RS RO & Seoch AIf¥TSe
aed

() TWER TEHE

(i) Saar™d Hgehtd

(i) To=ER

(iv) TER WEHEE TR
A) @), @D, (D)

(B) @), GiD), (iv)

(C) (@), (D), (D), ()

D) @), @), (v)
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32.

33.

34.

In which year was Panchsheel

Agreement signed ?

(A) 1951

(B) 1952

(C) 1953

(D) 1954

Agreement 123 is related with ......... .
(A) Indo-USA Civil Nuclear Deal
(B) Indo-Russia Civil Nuclear Deal
(C) Indo-USA Arms Deal

(D) Indo-Russia Arms Deal

The book ‘The India Way’ is written

BY ceveeeeeeeiiiaes .

(A) Harsh V. Pant
(B) C. Rajamohan
(C) Shashi Tharoor

(D) S. Jaishankar

32.

33.

34.

APR - 15224/11—B

Iyl ULl HIveAT Iaui Farerdl
el ?

(A) 1951
(B) 1952
(C) 1953
(D) 1954

FIR 123 B Ir=AW0 Gelag e

(A) ZEI-gudu RN enftas R

(B) 21-mn A enfvas IR

(C) TS-IUHY I F

(D) TEI-IWET I TR

‘T 3o A’ T I
e,

(A) &8 = Tad
(B) 9. TImHEA
(C) TN o9&

(D) TH. SETT

17
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35. Match List I with List IT and select
the correct answer from the codes

given below :
List I
(@) Deng Xiaoping
(b) Mikhail Gorbachev
(¢) Harry Truman
(d) Golda Meir
List II
(1) USA
(2) USSR
(3) Israel
(4) China
Codes :

(@ b)) ©© @
A @O @ 6 @
B @ @ @O O3
© 3 @ @2

M 2 @O @ 3

APR - 15224/11—B

35. AR I @ At I 3 Seoan {07 et
HehdlshMYd Arg IR e

qrar 1
(@) <7 feremenfim

(b) ToEEa merkes
() BO THd

(d) TiesT |5

(1) 9gF T4
(2) JUHTHAR
(3) T
(4) =M
ehdleh

(@ ®) () (@
A O @ & @
B @ 2 @O @
) 3 @ @

D @ @1 @D 3

18



APR - 15224/11—B

36. Which of the following countries is | 36. W@eleiush! U@ <91 QUAD =1 95
not a member of QUAD ? AR ?
(A) South Korea (A) <faror =i
(B) USA (B) WIF T N
(C) Japan (C) UM
(D) Australia (D) sfreferan
37. Choose the incorrect statement | 37. W@Wsﬁﬁmﬁzﬁ%ﬁm
regarding India’s role in UN : e -
(A) India is a strong supporter of . . .
& SUpp (A) AFETURRI=AT FLAUTHEE e
UN efforts for protection of ‘ )
T Y= YR TeR qqeeh
human rights
e
(B) India has actively supported
peacekeeping activities of the (B) HNGM WY [IHATAT il
UN s e wifean fem eme
(C) India is the largest donor of (C) 9E = q\@@ﬁqﬁa—[ Tafa g@iar
UNDP
SRR 3T]
(D) India has played consistently . . .
(D) 19T S0 IR TS
positive role in the UN’s efforts
, T TR TS R ST
for disarmament and arms
control SRR STt e
19 [P.T.O.



38.

39.

The first nuclear arms control

measures that India accepted was

the :

(A) NPT of 1967

(B) SALT-1 of 1972

(C) PTBT of 1963

(D) CTBT of 1995

New development bank has been

established under which

organisation ?

(A) BRICS

(B) SCO

(C) QUAD

(D) SAARC

38.

39.

APR - 15224/11—B

RAH TS Ufgen 3Tvas a0

W‘%UT@T:

(A) 1967 =M TAHRET

(B) 1972 =1 Hiee-1

(C) 1963 =1 W=t

(D) 1995 =1 Ta<fe<d

S N e S . Y i
] SRUHI dch h[UcH HHITAT AT

T 0 A SR 7

(A) o=

(B) &

(C) =TS

(D) 9=
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40. ASEAN stands for ................. }

41.

(A) Association of South-East Asian

Nations

(B) Association of Asian South-East

Nation-State

(C) Association of South-East

American Nations

(D) Association of South-East and

North
In which of the following Act British

Government declared that its

objective is the gradual introduction

of responsible government in

India ?

(A) Government of India Act of 1858
(B) Government of India Act of 1909
(C) Government of India Act of 1919

(D) Government of India Act of 1935

APR - 15224/11—B

40. ASEAN = YU &9 &@ M ?

41.

(A) feror-gd enfyrE Tege Hee

(B) <fau-qd emfyr wee-TearEt

e

(C) <farur-vd s TSIl W

(D) Tfo-gd a7 @ e

AAHE SeTegR AT godeed Hoe

Fed o0 T o weE stw o

T WCieTish! IV HIEAGIRIR TIH

=it el ?

(A) 1858 =T Teg-He 3% sfean iR

(B) 1909 =T TegHe 3% sfean i

(C) 1919 =1 TegTHe 3TF sfean 3fR

(D) 1935 = Teg1He 3ATF sfed s

21
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42. Match the following correctly : 42. Irg Sied S
Name of Province a |
(@) Bombay (@) i
(b) Madras (b) TEH
(¢) Bihar © FmER

(d) West Bengal @ TR .

No. of Members in the . .
Higa qumeite 9= W&

Constituent Assembly

(1 19
(1 19

(2) 49
(2) 49

3) 21
3) 21

4) 36
4) 36 @)
Codes : Hehdich :

@ ® © (@ ) @ @@
A @ @O @ @3 A @ O @ @3
B @O @ @3 @ B 1 2 @G @
©C 3 @ @O @ ©c 3 @ 1O @
D 3 2 @ @ D B 2@ @ @

22
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43. The principle of “Procedure | 43. ‘‘=acuM TYa wRUGH T =EIerR
established by Law” which is related iqrq"m]qqq|<.i®[%,ﬁ IR g ORE™
to judicial review in the Indian TSTEEE IV S USTHE e
Constitution is adopted from which T
country’s Constitution ?

(A) TR ToEe]
(A) American Constitution

(B) STl el
(B) Japanese Constitution

(C) Tordler Tsorere
(C) British Constitution

. o (D) HTSTE T

(D) Canadian Constitution

44. Which part of the Indian Constitution 44. VRHlE = S Bl
deals with the powers of Parliament e AT GHIOT h LT HHHR
to amend the Constitution and its 9 ST wrEivadt A e
procedure ? el e ?

(A) Part X (A) 41 <&l
(B) Part XV (B) 9m TEA
(C) Part XX (C) Wi =Y
(D) Part XIX (D) WM T
23 [P.T.O.



45.

46.

Which of the following statements
is not correct about President of

India ?

(a) The President of India is vested
with Power Pocket Veto

(b) The President of India is vested
with Power Qualified Veto

(¢) The President of India is vested

with Power Suspensive Veto

(d) The President of India is vested
with Power Absolute Veto

Codes :

(A) Only (c)
(B) Only (d)
(C) Only (b)
(D) Only (@)

Who appoints Chairman of all
Parliamentary Committees of the

Lok Sabha ?
(A) Prime Minister
(B) President
(C) Vice President

(D) Speaker of the Lok Sabha

45.

46.

APR - 15224/11—B
AT TSSO Wit hIoTd
faem gein e ?

(@) YRAr=A] USLIAT Giehe gl
AfRR TR

(b) TIAT=AT {lbdﬂqd"f—u FATARTES/

TTUCHS Geeldl SRR 3T

(c) HRar=AT ST TEI e/l

R AR SR

(d) ARG TS Aoagede/ Ry
el AER 3T

m :

(A) & (c)

(B) % (d)

(C) wad (b)

(D) %F (a)

RRE= T TR =T STeeq
THU IV HLAE 2

(A) T9EH

(B) gt

(C) SUSZYdT

(D) hEdd Fud!
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47. Which Supreme Court Judge | 47. 9Ramed Sfed Ifeehl & I S0
propounded the principle of “Public o= A=A <R gfaurfed
Interest Litigation” in India ? EX
(A) Justice S.M. Sikri (A) =t TE. . et
(B) Justice P.N. Bhagavati (B) =t . WA e
(C) Justice Koka Subbarao (C) =i ehiesh] Gealra
(D) Justice Mudholkar (D) =R Feftaht

48. In which Article of the Indian | 48. Usamed faum diere faufsa =0l
Constitution there is provision of frar oo 10 greEEa] LG A
Abolition or creation of Legislative TSTIZI9E 0] FATEE S0
Councils in States ? A g ?

(A) Article 169 (A) <heH 169
(B) Article 170 (B) @he™ 170
(C) Article 171 (C) &e™ 171
(D) Article 172 (D) et 172

49. Who appoints the Chairperson of the | 49. =T AFT SHHR AT AL
State Human Rights Commission ? THUER hHIT HLAN 2
(A) President (A) Tedt
(B) Supreme Court Chief Justice (B) 9dl=a <o QoA
(C) Governor (C) T
(D) Prime Minister (D) g™

25 [P.T.O.



50.

51.

Who is the Chairman of the

Metropolitan Planning Committee ?

(A) Mayor

(B) Chief Minister

()

Commissioner of Municipal

Corporation

(D) Minister of Urban Development

Ministry

Which of the following Commissions
is related with India’s planning and

development ?

(A) NITI Aayog and Union Public

Service Commission

(B) Planning Commission and NITI

Aayog

()

Finance Commission and State

Re-organisation Commission

(D) Backward Class Commission

and Backward Caste Commission

50.

51.

APR - 15224/11—B

TR s affd= stege i

A ?
(A) HerdR

(B) HEHTA

(C) HerTIdTcTehT Mg

(D) v&X fomm @ 150

~

Fa N\ W NN = N
CeATeTYeh] <hl9Td 3TN HIATAT TS

U EEI IR EIERE IR

(A) et SR ST S Alehddl

ST

(B) =M ™M effor il S

(C) To s anfor T G ST

(D) UFTHER] &N AT A ST

AN

26



APR - 15224/11—B

52. Who was the proponent of ‘Congress | 92. HIE T A Heheq=l YO I
system’ ? AR ?
(A) Pandit Nehru (A) dfed Te&®
(B) Rajni Kothari (B) ToM! e
(C) Indira Gandhi (C) e e
(D) Rajeev Gandhi (D) TSE e
53. Which demand was made by | 53 e enfor fowmmEeal ar wHgR
Bombay Plan before Constitution A .
SeATITHAIhS IO AU oI
Assembly about planning and
3‘.|'|Twﬁ ?
development ? ’
(A) State stays neutral about (A) TN AdTaedeed 72 TeM
economy
(B) UM Wkl WISoeRee] favard
(B) State should faith only in
- ECiCll
capitalism
(C) State take initiative for (C) T= aiEifrer aMfor 3o faemma-
industrial and other
dlod HelenlX =Aldl
development
(D) State should be abolish and (D) s e o
established stateless society e licTiE]
27 [P.T.O.



54. Which is one of the objective of the

55.

first five year plan ?

(A) Implementation of higher

education in rural area

(B) Industrial revolution is state’s

first priority

(©)

Implementation of agriculture

and industrial policy

(D) Get the country’s economy out

of the cycle of poverty

Who was the architech of Second

Five Year Plan ?

(A) Lal Bahadur Shastri

(B) P.C. Mahalnobis

(C) P.C. Alexander

(D) Droupadi Murmu

54.

55.

APR - 15224/11—B

faSol >

gfgean dearfties deme TF IfEw § 8

e

(A) 3= THIe701 &ROm=l UTHO 9T

-

FTHATTIT SHT]

(B) 3iieiifes il & Team dfeet sfes

e

(C) vt o7for Se=divT o= 3Tl

FSE0N HI0T

(D) <=M TS S@aRT el el

-l U=dltie e RITTSHR Fim

e ?

(A) TR IME
(B) W.¥fl. Wererrs
(C) . sfewrmist

(D) 3=t 7o
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56.

57.

Choose the correct answer about
Congress party which declared that
socialist pattern of society was its

goal ?

(A) New Delhi - 1947

(B) Madras (Aawdi) - 1956
(C) Mumbai - 1960

(D) Bangalore - 1972

Statement (A) : Initially, India’s
economy is described as ‘Mixed

Economy’.

Statement (B) : Elements from
both capitalist as well as socialist

model was adopted.

(A) Statement (A) is false and
statement (B) is not a right

explanation of (A)

(B) Statement (A) is correct and

statement (B) is right explanation

(C) Statement (A) and statement
(B) both are false

(D) Statement (A) is false and

statement (B) is correct answer

of (A)

56.

57.

APR - 15224/11—B

FHIH TG GHISER] SAH ey §
3T 3fEe WU R, Agid dr
i ere

(A) o fooett - 1947

(B) WS (3Tael) - 1956

(C) T - 1960
(D) &TER - 1972

faem (A) : gEamien YRar= SAdeEed
IUE T SAdeHaRe 9w Il

T (B) : wieeret i Tarsee! gl

AHfaeaTde e WhRUAR 3.

(A) f99M (A) Fehia 38 o faem™ (B)
o1l e et i e or e

(B) faam (A) I/g o1g 9 faam (B)
e AT TRl AR

(C) faum (A) sftn faum (B) =@l
THE ST

(D) faum (A) g™ @R T (B)  (A)
= 9 I R
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58. Choose the incorrect answer about political party and their existing

President :
Political Party President
(A) Congress Party (z) Mallikarjun Kharge
(B) Bhartiya Janata Party (i) J.P. Nadda
(C) Babujan Samaj Party (ziz) Mayawati
(D) Telugu Desam Party (tv) YRS Rajshekhar Reddy

58. TSThIT T 30T w9 ATy Idiel SENY IS Ale@n

TR Tl ALY
(A) H1I9 T () WicaswNT @dl
(B) WRE™ Sl wel @) Sl T
(C) ¥gsH HHIS 94 (iii) !
(D) Ter] <9H (v) 9M. R. TH. TERER TG

30
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59. Who was the proponent of ‘Non- | 59. ‘forR HiIgaR’ =1 WM ST HI0T
Congressism’ strategy in Indian T ?
Politics ? .
(A) Tgel e
(A) Rahul Gandhi
(B) Efew wmedt
(B) Indira Gandhi
(C) Mahatma Gandhi (C) T
(D) Dr. Ram Manohar Lohia (D) =T TAFATR e
60. Which political party secure majority | 60. ZHRITIAT TRt T 21T I
first time in India in 21st centuary ? feedal SgHd WK el 2
(A) Telugu Desam (A) e <5 A
(B) Bhartiya Janata Party (B) Wfa ST et
(C) DMK (C) 2.
(D) Y.R.S. Congress (D) H.ARTH. FI
61. Who among the following has called | 61 TITeAterishl k1ol foehrd gemgHTer
development administration as, ‘piafga, SEfvgE wEsE a5’
‘an action-oriented, goal-oriented oy daue e 2
administrative system’ ?
(A) Tk =g, fost
(A) F.W. Riggs
(B) Tad <o
(B) Robert Chambers
(C) Edward Weidner (C) TETE TSN
(D) Robert Dahl (D) U T
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62. Who among the following developed

63.

the model of ‘Administrative Man’ ?

(A) Chester Barnard

(B) Abraham Maslow

(C) Douglas Mcgregor

(D) Herbert Simon

Which among the following thinkers

is associated an interaction between

administrative system and their

environment ?

(A) F.W. Riggs

(B) Max Weber

(C) Karl Marx

(D) Herbert Simon

APR - 15224/11—B

62. WIcish] hIv ‘YEMHHRT AOE'

63.

ey fasfad sel ?

(A) == T8

(B) 19eH TRl

(C) STed HHITR

(D) el IEHA

Wefierteh] Hivrdr foamed gemaeh™

e ST =Y IaELe AT

ORI Hefed g ?

(A) Th g, o

(B) HeT I

(C) =Tel AR

(D) Bed IIHA
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64. Who among the following is | 64, Wiyl RIVTE YRGS HTEATT
considered as the father of famard s T o 2
administrative management
theory ? (A) & HIAA
(A) Herbert Simon (B) === & (e
(B) Chester Barnard ©) 3
(C) Henry Fayol
(D) Luther Gulick D) EFR Y

65. The word ‘public’ in Public | 65 HIESIeh TRMEAT  HIESI e STear=l
Administration stands for ............. : A WU
(A) Private Corporations (A) @l HeHess
(B) Government (B) ¥R
(C) Market (C) s
(D) Civil Society (D) R we

66. Which ideology champions the cause | 66. Ul f=ERERT Yh SIS UM
of free market ? 3 ?

(A) Communitarianism (A) H=IET]
(B) Socialism (B) HHMNER
(C) New Right (C) 7&H AfHR
(D) New Left (D) =&H BE
33 [P.T.O.



67.

68.

69.

Who among the following has
invented the technique ‘Management

by Objective’ ?
(A) M.P. Follet
(B) Chester Barnard
(C) Abraham Maslow
(D) Peter F. Drucker

‘Creative Experience’ (1924) is the
book written by :

(A) Herbert Simon
(B) Luther Gulick
(C) M.P. Follett

(D) Chester Barnard

Who among the following considered
New Public Management as

‘marriage of opposites’ ?
(A) David Osbone

(B) Christopher Hood
(C) Shireen Lateef

(D) Camilla Stivers

67.

68.

69.

APR - 15224/11—B
B! oM SfERTTER Sewer
T Y A e ?
(A) TH. 9. W
(B) =& &S
(C) T9TeR A&l

(D) WX Th. g

‘frudiee TfafE—g’ (1924) & T50%
o fafeer ?

(A) =& HEHA

(B) ©gaX Tfcieh

(C) wa.dl. el

(D) =R w1

eetUen! Shiul el TTersIeh SHaEITITe

[

= Ed ] bo
TORIERMT SR AFel 7

(A) Zfee e
(B) T g8
(C) RRA «d®

(D) wfgen fiesgd
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70. Who among the following is the | 7q WAt ' 2ae o1 = dfereh SfefityH’
editor of the book ‘Toward a New f s S a7
Public Administration’ ?

(A) & FIREA
(A) Frank Marini
(B) &3 Al
(B) Dwight Waldo
(C) Ta. Wt higawad
(C) H. George Fredrickson
(D) Mark Bevir (D) = &R

71. Which of the following writ is issued | 71. SATHHTA @M=l Foed TR ASTAER]
to compel an authority to do his feper =T SRR TR R0 W
duties or exercise his/her powers ? el e T s STl

Hhell Sl ?
(A) Writ of Habeas Corpus
(A) sifeyeTafis
(B) Writ of Mandamus
(B) THRY
(C) Writ of Certiorari
(C) &M
(D) Writ of Prohibition (D) whe
35 [P.T.O.



72.

73.

Who is called the father of modern
local self-government bodies in

India ?

(A) Lord Ripon
(B) Lord Canning
(C) Lord Lytton
(D) Lord Hardings

Which of the following is/are nature

of the public policy ?
(1) Public policies are goal oriented

(2) Public policy is formulated

without any purpose

(3) Public policy deals with private

company
(A) (1) only
(B) (2) only
(C) (3) only

(D) (2) and (3) only

72.

73.

APR - 15224/11—B

TR ST Tieh T Feer=

STeh Il el Sd 7

(A) wie fRuq

(B) =g s

(C) e fereq

(D) «@fe wfe™

AR ShIUTd HTeST ek EuT ey
e/ ?
(1) HESHs gro @ZIIM'&'@ 279d1d

(2) eSS R0 ST SeMITET
TR el 4

(3) WESeh HRW § Wrenft el
Hefed 31

(A) % (1)

(B) e (2)

(C) I (3)

(D) e (2) =TT (3)
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74. Choose the correct option regarding

75.

elements of Good Governance :

(1)

Transparency

(2) Accountability

3)

Participation

4)

Responsiveness

(A (D), 2), (3) only

(B) (1), (2), (4) only
©) (D), (3), (4) only

D) (D), (2), (3), (4) only

Which of the following pairs is not

correctly matched ?

(A) Pradhan Mantri Awas Yojana
— Rich People

(B) Pradhan Mantri Awas Yojana
— Urban Poor

(C) Pradhan Mantri Awas Yojana

— Rural Poor

(D) Pradhan Mantri Awas Yojana

— Rural and Urban Poor

APR - 15224/11—B

74, TE TMoEATA] HHTEE AT THE

75.

EEEIR
RIEE |
SEICHH

(1
(2)
(3) WEWM
(4) WiTHR
(A) (1), (2), (3) ™
(B) (1), (2), (4) %
©) (), (8), (4) W

D) D), @), 3), (4) B

ETeleTeh! IV SiTe! sRIaY S[eaee

e ?
(A) TUFHA e AT - SiHd aeh

(B) TUMEE STemg Fie - wed T

(C) FTTHE STE ST — UTHT T

(D) GETHT SATemE FISHT — ATHTo 2oy

TRl e
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76.

77.

78.

What plays a fundamental role in
implementing corporate social

responsibility ?

(A) Social Audit

(B) Income Tax Department

(C) Public Accounts Committee
(D) Central Bureau of Investigation

Which factor is interaction that ties

the state to civil society ?
(A) Military

(B) Guerilla War

(C) Authoritarian Leadership
(D) Governance

Which among the following is not

regional development policies ?

(A) Development of backward

regions
(B) Industrial location

(C) Urban growth

(D) Nationalization of industries

76.

77.

78.

APR - 15224/11—B

FIURE WTHTTSTR STAeI=! STHASSITEoT

HLOAIT hIUM=T HAYd YiHen 38 ?
(A) FHITSTR @RI (3Heharo)
(B) Rt faum

(C) @ o afH

(D) ®gE TR A0 fFam

TATe AT TSR SIS e

HZH HIUE AR ?
(A) G

(B) TR I3

(C) wafwy g

(D) IMET SRR

TATetsh] Shivd WR9Th fashm &

T ?

(A) UFTE Weum=n o

(B) sienfrs &
(C) vT&= 9T

(D) SENTY T
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79. Which section of the National Rural | 79 g ymfior Iome &t e, 2005
Employment Guarantee Act, 2005 % - o
(NREGA) =1 &hivredl 9rmd  TEHd
(NREGA) provides for regular )
TS ST AR TR ?
“Social Audit” ?
(A) 9 15
(A) Section 15
(B) w9 16
(B) Section 16
(C) Section 17 (C) Hwm 17
(D) Section 18 (D) w9 18
80. Which is the first state in India to | 80. wwHgFd FETEATHET TATIT HIUR
establish the office of Lokayukta ? IRl 9fgel T8 S0 ?
(A) Maharashtra (A) HERT
(B) Odisha (B) afifeem
(C) Tamil Nadu (C) diffe s,
(D) Kerala (D) =
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81.

82.

The declaration that he would rather

be ‘Socrates dissatisfied than a fool

satisfied’ was made by :

(A) L.T. Hobhouse

(B) J.A. Hobson

(C) T.H. Green

(D) John Stuart Mill

Who among the following thinkers

characterized early liberalism as

‘possessive individualism’ ?

(A) Jeremy Bentham

(B) C.B. Macpherson

(C) Milton Friedman

(D) T.H. Green

81.

82.

APR - 15224/11—B

‘A HEEET ST STAHIETH

LY e W

o [+

IO TEA e’ 2 o Shioft
whell Bl 2

(A) TAF. TaeET

(B) ST wIee

(C) 2. wa. UH

(D) S R fHa

T v foaRed geaw=

SERHqaTRTe el St ToH

HAlled ?

(A) ST oM

(B) it dhwiad
(C) fheed wiew

(D) A= TH
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83. The statement ‘Over himself, Over | 83. 'w=q@ER, W= YER 01 TAER,
his own body and mind, the e EdE ey § faue el
individual is sovereign’ is associated el wetE A
with :

(A) 9HY BleH
(A) Thomas Hobbes
(B) Machel Oakeshott (B) WP ST
(C) John Stuart Mill (C) = Tgere i
(D) Benjamin Disraeli (D) st fegrraed

84. Classical liberalism is usually | 84. SIS STRHGER FHH=TH Scict
associated with the work of : FEEN FEARE I
(A) J.S. Mill A) . . o=
(B) Jeremy Waldron (B) sSR! =Teg
(C) John Locke (C) S wt®
(D) John Rawls (D) < UeH

85. In whose words the state is regarded | 85. IUT=AT YT IoATell * ST I’
as, ‘necessary evil’ ? Y garHel S ?

(A) Thomas Paine (A) 99 T
(B) John Locke (B) A e
(C) Georgi Plekhanov (C) Sl wiEmes
(D) William Morris (D) foegw wifd
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86.

87.

The book ‘The Feminine Mistique’

is written by ................ .

(A) Betty Friedan

(B) Kate Millett

(C) Marie Curie

(D) Emma Goldman

Who among the following thinker
claim that the basic political
contradiction in modern society is
between ‘man as citizen’ and ‘man

as private individual’ ?

(A) J.S. Mill

(B) Karl Marx

(C) Will Kymlicka

(D) Nathan Glazer

86.

87.
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‘T wiggT fafesw’ § T
M feifeel @R,

(A) & Wred

(B) e fiere

(C) =it ==h

(D) W TeeHd

Y N~ L TS i
hHIUTAT JSTeh 19 Toarad 19 AlQHIQA endl

& AV : T AN A0 J0H : Th

SN S IT=Ad USTohid faenyrd

e ?

(A) S.ug. foa

(B) =Tel A

(C) faa ferafetat

(D) g ez
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88. The idea that individuals are | 88. =3 = WA= Mfor arHc= qoid:
absolute owners of their talents and Hieleh 3Ted &l ko9l shivfl gAEss((od
capacities was revived by : el ?

(A) Robert Nozick (A) W g
(B) John Rawls (B) <A ey
(C) Adam Smith (C) efen fHg
(D) Lenin (D) wf =

89. Who among the following thinkers | 89. TWTClcIUsh! SHIUMET THNEGT TR I
is considered as Socialist Feminist ? S| ?

(A) Kate Millet (A) =e faeeie
(B) Max Weber (B) ¥ dsR
(C) Friedrich Engels (C) heftw Ty
(D) Betty Friedan (D) =& wrsd

90. Who among the following thinkers | 90. Wefieiyeh! o1 faaRad AT FESTEN
called civil society the ‘aggregate feageayr T &' of TUEE ?
sphere of interest’ ?

(A) TSI TH.
(A) G.W.F. Hegel
(B) John Locke ® S i
(C) Charles Fourier (C) e wIfeR
(D) Robert Putnam (D) U AW
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91.

92.

According to Hegel, what is the
connection between the ethical life
of individuals and the State in his

political philosophy ?

(A) The State has no bearing on the

ethical life of individuals

(B) Ethical life is only achievable
in isolation from societal
structures

(C) The ethical life of individuals is
integrally connected to the life

of the State

(D) Hegel dismisses the concept of

ethical life in political contexts

In Gramscian theory, what does the

concept of “war of position” refer to ?

(A) Open military conflict between

classes

(B) The struggle for ideological
dominance and control over civil

society

()

Revolutionary uprising

(D) Economic determinism

91.

92.
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BT TSeh g draIQTd, ki it
Seq T ST IT=ETd I 9e Y
AR ?

h

oA A= Afde SaTeEr

=01 e e 1 A < Bl 4

(A)

(B) Afqer Sfed wrHfes  SL=HaEA
AfeTa eSS Y TR

L

o~ o

dldch SlleH, {9

AfUTIIY SSelel 319

SIERIEl

(C) =

WY

"ldeh

N

(D) B USRI Hedidrd

SIEEIEIIEE T BB ICALSi
e fagiame, fd= g8 @
Tehou=n Hed w1 e ?

(A) =iaeia Ten awhd Tee

(B) =TI HHISTER 9= o= S

IERERIEIGIRS e

(C) HifderId 3=

(D) anf¥fe fuRarR
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93. What concept in Frantz Fanon’s | 93. Wi HAl= USehid ORI shIowil
political thought emphasizes the Heheql JaTEqarerEl drERfds et
psychological impact of colonialism BT qfAE TROTHET W 29 2
on the colonized individual ?

(A) s freRaR
(A) Economic Determinism

(B) HEhfdes @&drETs
(B) Cultural Relativism
(C) Alienation and Dehumanization ©) il
(D) Historical Materialism (D) Ufderes wifdepas

94. Hannah Arendt’s concept of “the | 94. T RT= " ‘FRa™ g5’ & Hehed
banality of evil” is associated with : FIMENT Faiaa e ?

(A) Machiavelli’s political realism (A) Hframee=n TSehg IrRaaaR
(B) Aristotle’s virtue ethics (B) eifeiee™ wequ e
(C) Eichmann’s role in the Holocaust (C) TICiheZAL] SEYMT=H] et
(D) Rousseau’s social contract (D) ®HET gHSah il

95. Who said, “I do not wish them | g5 ‘e (fermit) qesier siferrR Samn
(women) to have power over men, 3T9Tt TTEh S99 e, TR A e
but over themselves” ? SaEn’’ S Hv wurel ?

(A) Simon De Bouvoir (A) fgum T g=a
(B) Shullamith Firestone (B) IEHY RS
(C) Mary Wollstonecraft (C) B0 A=A
(D) Kate Millet (D) #e fHete
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96.

97.

‘The “natural” man will be one in
whom strong conscience and
steadfast reason have successfully
harmonized self-love and sympathy’.

Who advocated this ?
(A) Hobbes

(B) Rousseau

(C) Bentham

(D) Locke

According to Confucius, which
concept emphasizes the importance
of individuals fulfilling their roles
and responsibilities within the social

hierarchy ?
(A) Tian
(B) Dao
(C) Xiao

(D) Li

96.

97.

APR - 15224/11—B

CUgiitER AE o oE wATHEd

TER HeHgfIdhedsl MU Tad qeh
A STCH-UH ST WRTdl A=A
TR0 GHAE "Sqd S, ¥ Hiqumed
HIOT el ?

(A) =®fsH
(B) &4l
(C) =g

(D) =ik

HHISTF TRTeRH e YfHeRT ST Sfeer=i

[adal

E2ERIG

IR ST Hewd haRE=l,

I Heheo el fawE Hel T 2
(A) feam
(B) =13
(C) fast

(D) =it
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98. Which book of Machiavelli discusses | 98. Hiehaegal =1 IV JRIhRIT THhHATHI
the idea of Virtue in the context of Heuid ol == SHva el A 2
ruler ? .

(A) T 3R 3fF an
(A) The Art of War
(B) T fefem A Teite
(B) Two treatise on government
(C) Perfect state ©) e
(D) Fortuna (D) HI=A

99. According to John Locke, which | 99. i Sleh=aTHd, GIcIcTuh! shiow@l THRH
amongst the following is not a sfaer Tt ?
natural right ?

(A) SHTUETET AfaeRR
(A) Right to Life
(B) HIeTH=T SR
(B) Right to Property
: : (C) &= SAfEehr
(C) Right to Liberty
(D) Right to Work (D) i

100. Who said, “Each person possesses an | 100. ‘T S ~ATATeR ST ST
inviolability founded on justice that A 1 TR q‘{‘ﬁ AT HedToTe]
even the welfare of society as a TS S=E o8 ehd A6l ST I
whole cannot override” ? w/Uel ?

(A) John Rawls (A) S U
(B) Robert Nozick (B) U feh
(C) Friedrich Hayek (C) Hhefls B
(D) Habermas (D) T
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ROUGH WORK
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